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SECTION-A
A. Choose the correct option. (10 Marks)
1. Opposite sides of a rectangle are

10.

a) Unequal b)equal  c¢)curved

How many straight lines are required to make the alphabet L?
a) 2 b)3 c) 4 d) 1

The place value of 7 in 789 is

a) Hundred b) ones c) tens

A tube light has shape of

a) Rectangle  b) Cylinder c¢)cone d) Square

5 can write in roman as.

a)V. b IV olll d)IX

I am an even number. | am between 978 and 994. The ones and tens digit are same. What number am 1?

a) 977 b) 988 c) 980 d) 888

A globehas  surface.

a) Curved  b) plane c) No d) none of these
The sum of 20 and 77is .

a) 87 b) 97 c) 107
The successor of 212 is

a) 211 b) 210 c)213
How many tens are there in 3827

a) 3 b) 8 )2




B. Fill in the banks. (10 Marks)

The number just before 2000 is

The largest three-digit number is .
Where two faces of a solid meet is called its

1 meter = centimeters

September comes after

5 less than 50 is

The place value of zero is

1 hour = minutes.

. 27 more than 61 are

10. The base of your water bottle

DO N U AW~

C. Write the predecessor and successor of the following. (5 Marks)

1. The Predecessor of 5678 is
2. The successor of 6217 is
3. The Predecessor of 881 is
4. The successor of 7531 is
5. The successor of 8088 is

SECTION - B
D. Complete the patterns in sequence. (8 Marks)
1. 450,455,460, L ; )
2. 100, 200, 300, . ] ,
3. 966, 866, 766, 660, . , ,
4. 600, 650, L g ) :
E. Solve the problems using addition with carry method. (4 Marks)
1) 586 2)78 7
+232 + 369
F. Solve the problems using subtraction with borrowing. (4 Marks)
)92 2 2)787
-769 -669

S




G. Convert the following from meters to centimeter

I. 17m= cm.
2. 48m= cm.
3. 6m= cm.
4., 77Tm=_ cm.

H. Write the date in numbers.
1. 22 December 2010 =

2. 16 June 2012 =
3. 23 December 2011 =

I. Write the expanded form of the following numbers.

1. 347=
2. 950=
3. 500 =

ECTION —
J. Find the time that represent in the given clock.

1. %

K. Draw a dotted line to divide the given picture into two mirror images.

(4 Marks)

(3 Marks)

(3 Marks)

(6 Marks)

(3 Marks)




L. Solve the given problems. (9 Marks)
There are 442 boys and 323 girls in a school. How many students are there in all?

2. Shane skip counting by 50’s and started counting backwards from 800 till 450. Write
the numbers he counted.

3. Reena bought 403 candies. Grey bought 304 candies. Who bought more number of candies?

M. Tick (\/ ) the figures which have corners and cross( X) the figures which have no corners

(3 Marks)
1 2. 3
SECTION - D
N. Subtract and check the answer. (4 marks)
468 e
-139

Ans — g
0. Write Roman numbers. (4 marks)

1. 6=

2. 10=

3. 26=

4. 30=




